Efficiency vs dr

0.2

0.8

ateCutChiSquare5_step2_ttbar-phasel-newgeom

o C
< r
2 0.18:—
30.16F
< C
00.14F
©0.12F
0.1+
0.08F
0.06-
0.04f
0.02f-|:
(@] G_- |l : - ||'| n
= 1.4 -| —— DQM_original_step2_ttbar-phasel-newgeom
&U o —e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
1.2 -] —— DQM_pixelCPETempl
Il A B
107

107®

[ Efficiency vs dr (track,jet) |

1
TP min AR

.§0.02
d0.018F
E F
Q.OIG_
©.014F
P o
9.012F
2 o
o

£ 0.01
© E
0.008F
0.006F
0.004F
0.002
1Q

Ratio

Efficiency vs pu

1072

-1

1
AR(TP, jét)

-0.05

% é
9.045
80,04 bbb b
(] .
o) 0 R SO SO SRS S SR SR
5 H
0 0 N A
0.025
0.02F--+--ieeememioemeeeide
0.015 VS A
0.01E-----i-#8 sISAmA I L (10 )
0.005E g i
o O s
IS : :
x 15
1 ] ......

20 100 120 14

Pileup



	Contents
	Page 1


